

Early Predictors for Long-Term Functional Outcome After Mild Traumatic Brain Injury in Frail Elderly Patients

Amaal Eman Abdulle, BSc; Myrthe E. de Koning, BSc; Harm J. van der Horn, MSc; Myrthe E. Scheenen, Msc; Gerwin Roks, MD, PhD; Gerard Hageman, MD, PhD; Jacoba M. Spikman, PhD; Joukje van der Naalt, MD, PhD

Objective: To identify the effect of frailty and early postinjury measures on the long-term outcome after mild traumatic brain injury in elderly patients. **Setting:** Patients admitted to 3 Dutch hospitals designated as level 1 trauma centers. **Participants:** The elderly (≥ 60 years) with mild traumatic brain injury ($N = 161$). **Design:** A prospective observational cohort study. **Main Measures:** Posttraumatic complaints and the Hospital Anxiety and Depression Scale determined 2 weeks postinjury; the Glasgow Outcome Scale Extended and Groningen frailty indicator determined 1 to 3 years postinjury. **Results:** A total of 102 nonfrail (63%) and 59 frail elderly (37%) patients, mean age of 70.8 (6.3) years were included. Most patients (54%; 72% nonfrail and 24% frail) recovered completely 1 to 3 years postinjury. Two weeks postinjury, 81% had posttraumatic complaints (83% frail and 80% nonfrail elderly), and 30% showed emotional distress (50% frail and 20% nonfrail). Frailty (odds ratio, 2.1; 95% confidence interval, 1.59–2.77) and presence of early complaints (odds ratio, 1.13; 95% confidence interval, 1.01–1.27) (Nagelkerke $R^2 = 46\%$) were found to predict long-term outcome, whereas age was not a significant predictor. **Conclusion:** The frail elderly had worse long-term outcome, and early complaints were found to be a stronger predictor of unfavorable outcome than age. Understanding the implications of frailty on outcome could help clinicians recognize patients at risk of a poor outcome and allocate care more efficiently. **Key words:** aging, brain injuries, depression, follow-up studies, frail elderly, outcome assessment (healthcare), prognosis, rehabilitation

THE RISK of sustaining a traumatic brain injury (TBI) increases with age.^{1,2} In recent years, the epidemiological pattern of injury has changed, with more injuries occurring among elderly patients (>60 years) caused by low-energy accidents such as falls.^{1,3,4} Mild TBI (MTBI) accounts for approximately 80% to 90% of all traumatic brain injuries, and most patients recover within 6 months after MTBI without

specific treatment.^{2,5} However, a subgroup (20%–25%) experiences persistent posttraumatic complaints, which interfere with resumption of daily activities and work.^{6,7}

The number of elderly patients who sustain a TBI is expected to increase due to demographic changes. By 2050, 40% of all trauma patients will comprise adults 65 years or older.⁸ The elderly population is generally the biggest consumer of health services and critical care resources. Elderly individuals not only have an increased risk of sustaining a TBI, but advanced age is also a risk factor for higher mortality and morbidity rates after a TBI.⁹ It is reported that, on average, 76% of elderly patients who survived a trauma returned home 6 months postinjury.^{10,11} Previous studies showed that lower levels of resilience and perceived social support were associated with a reduced quality of life in patients with MTBI.¹² However, specific information is lacking about the long-term outcome and activities of daily living of the subgroup of elderly patients with MTBI.

Corrigan and colleagues¹³ stated that, among preinjury characteristics, age accounts for the most variance in outcomes after TBI. Age is associated with

Author Affiliations: Department of Neurology, University of Groningen, University Medical Center Groningen, the Netherlands (Mss Eman Abdulle and de Koning, Mr van der Horn, and Dr van der Naalt); Department of Clinical Neuropsychology, University of Groningen, the Netherlands (Mr Scheenen and Dr Spikman); Department of Neurology, Elisabeth Hospital, Tilburg, the Netherlands (Dr Roks); and Department of Neurology, Hospital Medisch Spectrum Twente, Enschede, the Netherlands (Dr Hageman).

This study is supported by the Dutch Brain Foundation (grant Ps2012-06).

The authors declare no conflicts of interest.

Corresponding Author: Joukje van der Naalt, MD, PhD, Department of Neurology AB51, University of Groningen, University Medical Center Groningen, Hanzeplein 1, 9713 GZ Groningen, the Netherlands (j.van.der.naalt@umcg.nl).

DOI: 10.1097/HTR.0000000000000368

comorbidities such as hypertension, chronic renal failure, and diabetes, which reflects a higher frailty index and could negatively influence the outcome after MTBI.⁴ Frailty is defined by a loss of physiologic reserves and consequent inability to maintain homeostasis to overcome a disease or injury.^{10,14–16} This can be caused by a range of factors, which may lead to an adverse health outcome.^{16–18} The most common signs of frailty are weight loss, fatigue, weakness, low activity level, and decreased cognitive performance.¹⁴ The prevalence of frailty increases with age and is higher in women.^{17,19} In recent years, frailty has emerged as an independent predictor of risk of adverse outcome (such as mortality and disability) in older people. These risks are independent of the associated comorbidities that could be present.^{14,20,21} Therefore, it might be beneficial to assess the role of frailty for prognosis after MTBI in elderly patients. In addition, poor recovery after MTBI has been associated with preinjury mental health status and early emotional distress.²² Since posttraumatic complaints are strongly related to emotional distress, these factors have to be taken into account when evaluating the effect of frailty.

There is limited information on frailty as possible outcome predictors after MTBI. Therefore, the main purpose of this study was to investigate the effect of frailty (in addition to well-known factors like emotional distress, posttraumatic complaints, and preinjury mental health) on the long-term outcome after MTBI in elderly patients defined as those 60 years or older.

MATERIAL AND METHODS

Participants

This study, conducted between January 2013 and January 2015, was part of a large observational cohort study (UPFRONT study) that included patients with MTBI admitted to 3 Dutch hospitals designated as level 1 trauma centers. MTBI was defined as an injury to the brain with loss of consciousness of 30 minutes or less and/or duration of posttraumatic amnesia of less than 24 hours and a Glasgow Coma Scale score of 13 to 15 at the emergency department.²³ For the current study, only patients 60 years and older were included; the following age groups were created: 60–64, 65–69, 70–74, and more than 74 years. Patients were excluded because of insufficient comprehension of the Dutch language, addiction to alcohol and drugs, or the presence of concomitant dementia or psychiatric diseases. The study was approved by the Medical Ethical Committee of the UMCG, and all patients gave written informed consent.

Collection of data

The following patient and injury characteristics were retrieved: sex, age, medical history, presence of

preinjury mental health problems, computed tomography (CT) assessments, mechanism of trauma, and vital parameters on admission. Comorbidities (eg, diabetes and cardiovascular disease) were documented. A CT scan was performed at the emergency department and scored by an experienced radiologist according to the Marshall score (ranging from 1 to 6).²⁴ Marshall scores were dichotomized into normal CT (score 1) and abnormal CT (scores 2–6). Patients received questionnaires at 2 weeks, 3, 6, and 12 months after injury. For this study, data from the questionnaires assessed at 2 weeks were used and additional information was collected at 1 to 3 years postinjury. This additional information comprised questions regarding satisfaction with life, specific physical impairments, psychosocial well-being (eg, experiencing psychological problem and maintaining social contacts), participation in social life, and mobility. These additional questions assessed at 1 to 3 years postinjury were based on common items measured in other frailty instruments.²⁵ For the assessment of frailty, we used the Groningen frailty indicator (GFI; described later), which is a valid instrument to measure frailty from a multidimensional perspective.^{20,26} The interval between injury and determination of long-term outcome varied between 1 and 3 years, with a mean interval of 30.1 (6.2) months.

Early measures assessed at 2 weeks postinjury

Emotional distress

The Hospital Anxiety and Depression Scale (HADS) contains 14 items, with 7 items measuring depression and 7 items measuring anxiety; scores range from 0 to 21.²⁷ HADS scores were dichotomized, with a score 8 or more indicating the presence of anxiety and/or depression.

Posttraumatic complaints

The Head Injury Symptom Checklist^{7,28} contains 21 common posttraumatic complaints rated on the following scale: 0 = never, 1 = sometimes, and 2 = often. Total scores range from 0 to 42 with correction for preinjury complaints. Presence of posttraumatic complaints was defined as reporting one or more symptoms, and dichotomized into 0 (no complaints) and 1 (complaint).

Long-term measures assessed at 1 to 3 years postinjury

Satisfaction with life

Patients were asked to give their life satisfaction a score between 1 and 10. A score of 1 indicates total dissatisfaction and a score of 10 indicates total satisfaction with their lives.

Postinjury frailty

Frailty was assessed with the GFI.²⁶ The GFI comprises 15 items and measures functions in 4 domains: physical, cognitive, social, and psychological (see Appendix 1). Scores range from 0 to 15; patients with a sum score of 4 or more were considered frail.^{20,26}

Long-term outcome

The Extended Glasgow Outcome Scale (GOSE) was used to assess functional outcomes.^{29,30} The GOSE is an 8-point scale, ranging from death (score 1) to complete recovery (score 8). For presentation of data, we combined the following GOSE scores: upper and lower severe disability (GOSE scores 3 and 4) into severe disability and upper and lower moderate disability (GOSE scores 5 and 6) as moderate disability. For regression analysis the GOSE scores were dichotomized into favorable (GOSE 8) and unfavorable outcomes (GOSE 1-7).

Statistical analysis

For the statistical analysis, this study used the Statistical Package for the Social Sciences (SPSS) version 22.0. Nonparametric tests (χ^2 , Mann-Whitney *U*) were used with nonnormally distributed data to determine group differences. Correlations between variables were determined by either Pearson or Spearman correlation

coefficients. Regression analysis was done with dichotomized GOSE score as the dependent variable. Variables significant in the univariate logistic regression were further analyzed in a multivariate binary logistic regression analysis. A *P* value below .05 was considered significant. In case of multiple comparisons, Bonferroni-Holm corrections were applied.

RESULTS

In total, 188 patients were judged eligible to participate in this study. However, 7 refused to participate, 19 could not be contacted, and 1 patient died. Thus, a total of 161 patients were included in the analysis, 59 (37%) frail and 102 (63%) nonfrail elderly patients.

Patient characteristics

Patient characteristics are displayed in Table 1. The male-to-female ratio was 1:1.2, with a mean age of 70.8 (6.3) years. Falls were the most common mechanism of injury, and 73% of patients were admitted to the hospital ward; almost all patients were discharged to their homes. Patient characteristics for frail and nonfrail patients are presented in Table 2. Injury caused by collision was twice as high in frail patients (31% frail and 17% nonfrail, *P* = .12). Prior to injury, 37% of patients experienced physical impairments (51% of frail, 29% of nonfrail,

TABLE 1 Patient characteristics^a

Patient characteristics	Total N = 162	60-64 N = 27	65-69 N = 54	70-74 N = 38	>74 N = 43	P value
GCS of 15 on admission, %	72	70	65	76	79	.73
ISS, mean (SD)	8.2 (5.9)	10.5 (8.1)	7.0 (3.6)	9.9 (7.5)	7.1 (4.5)	.11
Sex, %						.73
Male	55	52	59	58	49	
Female	45	48	41	42	51	
Hospital admission, %	73	74	74	79	65	.55
Comorbidities, %	65	59	57	74	74	.17
Premental health, %	6	0	6	5	9	.21
CT abnormalities, %	23	33	15	32	19	.20
Mechanism of injury, %						.02
Fall	75	82	70	68	84	
Collision	22	19	20	32	16	
Other cause	3	0	9	0	0	
Discharge destination, %						.07
Home	96	85	100	96	98	
Other hospital	2	11	0	2	0	
Rehabilitation facility	1	4	0	2	0	
Nursing home	1	0	0	0	2	
Long-term favorable outcome, %	54	59	54	55	52	.89

Abbreviations: CT, computed tomography; GCS, Glasgow Coma Scale; ISS, injury severity score; SD, standard deviation.

^a*P* values indicate differences between age groups. Post hoc analysis showed no significant differences (at *P* < .008 level) between separate age groups.

TABLE 2 *Patient characteristics of frail and nonfrail patients*

Patient characteristics	Total N = 161 ^a	Frail N = 59	Nonfrail N = 102	P value
GCS of 15 on admission, %	72	69	73	.75
Sex, %				.46
Male	55	51	57	
Female	45	49	43	
Mean age (SD)	70.8 (6.3)	71.7 (6.6)	70.1 (5.7)	.02
ISS, mean (SD)	8.2 (5.9)	8.7 (6.2)	7.9 (5.7)	.08
Hospital admission, %	72	76	70	.44
Premental health, %	6	11	3	.06
Mechanism of injury, %				.12
Fall	75	66	80	
Collision	22	31	17	
Other cause	3	3	3	
Comorbidities, %	65	78	57	.05
CT abnormalities, %	23	19	26	.42
Discharge destination, %				.49
Home	96	95	96	
Other hospital	2	1	3	
Rehabilitation facility	1	2	1	
Nursing home	1	2	0	

Abbreviations: CT, computed tomography; GCS, Glasgow Coma Scale; ISS, injury severity score; SD, standard deviation.

^aN = 161 due to death of 1 patient.

TABLE 3 *Residual impairments and activities of daily living 1 to 3 years after injury*

Residual impairments	Total N = 161 ^a	Frail N = 59	Nonfrail N = 102	P value
<i>Early impairments^b</i>				
Posttraumatic complaints, %	81	83	80	.68
Emotional distress, %				
HADS-anxiety	16	24	13	.06
HADS-depression	14	26	7	<.01
<i>Late impairments^b</i>				
Physical, %				<.01
Sickness	38	59	26	
Reduced strength in hands	23	59	37	
Dropping things out of hand	23	42	12	
Mobility, %				<.01
Inability to drive a car	24	42	14	
Changed to preinjury situation	36	63	21	
Psychosocial, %				<.01
Enjoyment of activities	13	27	5	
Change in social relations	16	25	10	
Satisfaction with life, mean (SD)	7.4 (1.2)	6.7 (1.4)	7.9 (0.8)	<.01
Living situation, %				<.01
Living with partner	76	61	84	
Living alone	20	31	15	
Living with partner + children	3	5	1	
Living with children	1	3	0	

Abbreviations: HADS, Hospital Anxiety and Depression Scale; SD, standard deviation.

^aN = 161 due to death of 1 patient.

^bEarly residual impairments were assessed at 2 weeks postinjury; late residual impairments were assessed at 1 to 3 years.

$P < .01$) and 6% of patients had preinjury mental illness (11% of frail and 3% of nonfrail patients).

Early posttraumatic complaints and emotional distress

Concerning early posttraumatic complaints (assessed at 2 weeks postinjury), 81% of the patients reported more than 1 complaint (mean = 4.8, standard deviation = 3.9). The most frequent prevailing posttraumatic complaints for both groups were dizziness (55%), fatigue (50%), and headache (44%). Only presence of forgetfulness was significantly different between the groups (31% frail and 19% nonfrail, $P = .004$). Regarding emotional distress 2 weeks postinjury, 14% of patients experienced depression (26% frail and 7% nonfrail, $P = .001$) and 16% experienced anxiety (24% frail and 13% nonfrail, $P = .06$).

Long-term outcome and complaints

Overall, 54% of patients completely recovered, 14% had mild disability, 22% had moderate disability, and 11% had severe disability. The majority (72%) of the nonfrail elderly patients completely recovered compared with 24% of the frail elderly ($P < .01$). The frail patients were primarily moderately disabled (41%). The nonfrail elderly had a higher mean GOSE score compared with the frail elderly ($P < .01$). Outcome was not significantly different between males and females.

At 1 to 3 years postinjury, frail elderly patients reported a lower mean score for satisfaction with life (6.7 vs 7.9 for nonfrail, $P < .01$), and more often reported being unhappy with their lives (20% of frail vs 0% of nonfrail, $P < .01$) (Table 3). Since only one patient died 1 to 3 years after injury, no further analyses were conducted on long-term mortality.

Predictive factors for long-term outcome

The univariate logistic regression for the total group, with GOSE as the dependent variable, showed that the presence of complaints (odds ratio [OR], 1.16; 95% confidence interval [CI], 1.06-1.27; $P < .001$), the GFI (OR, 1.87; 95% CI, 1.51-2.31; $P < .001$), anxiety (OR, 1.17; 95% CI, 1.05-1.29; $P = .003$), and depression (OR, 1.2; 95% CI, 1.08-1.34; $P = .001$) were significant predictors of an unfavorable outcome. Other variables (sex, premental health, destination at discharge, living situation, comorbidities, Glasgow Coma Scale, presence of CT abnormalities, and mechanism of injury) were not significant predictors of outcome. In a multivariate logistic regression analysis of the entire group, with GOSE as the dependent variable, only the GFI (OR, 2.1; 95% CI, 1.59-2.77; $P < .001$) and presence of complaints (OR, 1.13; 95% CI, 1.01-1.27; $P = .04$) emerged as significant predictors of outcome, with an estimated explained

variance of 46% (Nagelkerke R^2). With increasing GFI scores, patients were twice as likely to have an unfavorable outcome (GOSE scores < 8). Age, early anxiety, and depression were not significant predictors of the long-term outcome within this cohort.

DISCUSSION

This is one of the first studies to evaluate the effect of frailty and age on the long-term outcome after MTBI in an elderly population. One main finding was that more than half of the elderly patients showed complete recovery after injury. Approximately one-third of the patients were considered frail, and a favorable long-term outcome was observed in only 24% of these patients. Frail elderly patients more often showed early emotional distress. Furthermore, frailty was found to be decisive for the long-term outcome in the multivariate analysis, whereas age was not.

The prevalence rate of frailty, as reported in the landmark study of Rockwood et al,¹⁹ ranged from 70 to 366 per 1000 patients in those 65 years and older. In this study, 36% of all patients and 42% of those older than 74 years were considered frail, figures comparable to those in other studies.^{30,31} A higher prevalence of frailty in women has been reported, but that was not present within our cohort.^{19,31} Earlier studies have stated that frailty can lead to the adverse outcome.³² However, in this cohort elderly patients tended to recover after sustaining an MTBI, with 54% of patients recovering completely and 14% experiencing mild disability. Severe disability was observed only in 1 in 10 patients. Moreover, recovery rates did not differ significantly across age groups. This relatively good functional outcome is in accordance with the findings of others who have reported that the majority of elderly patients with MTBI (63%) had a good recovery and were able to live independently.³³ We found that frail elderly patients were 3 times more likely to experience an unfavorable outcome (76%) compared with the nonfrail elderly (28%). This unfavorable outcome for the frail elderly was more pronounced with increasing age.

Previous studies have found that complaints and preinjury characteristics are relevant predictors of outcome after an MTBI. Within the present cohort, the majority (81%) of patients reported at least 1 posttraumatic complaint 2 weeks postinjury.^{34,35} The most frequent posttraumatic complaints were dizziness, fatigue, and headache in accordance with previous studies.^{7,28} When comparing frail with nonfrail patients, no significant differences were found in the presence of early complaints. However, this study identified the presence of early posttraumatic complaints as a significant predictor of early unfavorable long-term outcome for all patients after

MTBI. A previous study, conducted by Cassidy et al,²² found that the presence of early emotional distress and poor premorbid physical health status were associated with a poor recovery after MTBI. In this study, approximately 1 in 3 patients experienced early emotional distress, and frail elderly patients were nearly 3 times more often considered anxious and depressed in comparison with nonfrail elderly patients. This finding is line with previous findings that, once frailty develops, the likelihood of clinically significant depression and anxiety increases.³⁶ Frail patients also had a reduced mobility 1 to 3 years after injury, and 29% of the frail patients were activities of daily living dependent; this is higher than what has previously been reported.³⁷ Only 2 patients (3.5%) were also dependent prior to the accident; the dependency rate increased approximately 8-fold postinjury, in accordance with other studies.^{38,39} Moreover, it was noted that frail patients were more likely to be living alone 1 to 3 years after injury in comparison with nonfrail elderly patients (31% vs 15%). Regarding the level of satisfaction with life, frail elderly patients reported a significantly lower score compared with nonfrail elderly patients. We postulate that the presence of psychosocial impairments and the living situation might have negatively influenced satisfaction with life in the frail elderly.

Higher mortality rates and worse functional outcomes are present in elderly patients with TBI, although TBI and concomitant injuries are often less severe compared with younger patients.³ Furthermore, frailty was previously found to be a predictive factor for the mortality rate.¹⁴ Since only 1 patient in our cohort died, it was not possible to determine the impact of frailty on mortality in this sample.

Studies reporting solely on the outcome of elderly patients after MTBI are scarce, since such studies often included all age categories.^{3,33,40,41} Although a number of studies have indicated that increasing age is associated with higher mortality rates and worse outcomes after TBI, the majority of these studies concern individuals with severe TBI.^{41–45} Others have explained the association between higher age and a worse outcome by stating that it may be difficult for the elderly to psychologically adjust to the traumatic event, which was not only limited to MTBI.^{1,40} In particular, resilience is one factor assumed to contribute to the adverse outcome following MTBI.¹² Conversely, Mosenthal and colleagues³³ found that older patients with MTBI continue to improve after discharge and postulated that age might possibly be a more important predictor of the unfavorable outcome in patients with more severe TBI. The present study identifies frailty and the presence of early posttraumatic complaints as significant predictors of the unfavorable long-term outcome after MTBI, whereas age is not. A possible explanation for this finding could be that the effect of age on outcome diminishes with increasing age.

To our knowledge there are no other studies of the influence of frailty on outcome after MTBI in elderly patients. Therefore, this study is the first to report on this issue. As the overall population ages, it will become mandatory to improve the care for elderly patients with MTBI. Frailty is not only a risk factor for sustaining a TBI in general, but it could also complicate treatment for this elderly group. It might seem difficult to disentangle the effects of frailty from those of comorbidities and disability, although the difference lies within the definition.^{16,46} Comorbidities refer to the coexistence of clinically manifest diseases diagnosed by clinicians. Conversely, frailty is a multifactorial concept, is rarely limited to a single organ system, and refers to an increased vulnerability to physical and psychological stressors.^{16,32} Previous research underlined that frailty can exist without the presence of comorbidity and disability, suggesting that frailty can result from aging-related physiologic changes that are not disease or disability based.⁴⁷

The findings of this study support the hypothesis that frailty is an independent factor that can increase vulnerability to the unfavorable outcome after MTBI. Understanding the implications of frailty on outcome is important to recognizing elderly patients who are at risk of the adverse outcome and in need of early treatment after sustaining MTBI.

Study limitations

We recognize that this study has some limitations. First, this study lacked a comparison group (one that consists of the frail elderly who did not sustain an MTBI) to investigate the effect of frailty alone. However, the sample size of this study is large compared with other studies. Moreover, the differences regarding the long-term outcome between the frail and nonfrail are clearly significant, indicating a substantial effect of frailty upon functional outcomes in patients with MTBI. Although preinjury frailty status was not measured, the findings suggest that measuring frailty postinjury has a significant effect on the long-term outcome. Furthermore, it could be argued that the GOSE is not an applicable instrument to measure outcome in these elderly patients. Moreover, there is partial redundancy between the GOSE and the frailty measure. Nevertheless, the GOSE is a valid scale that is employed worldwide to monitor functional recovery, even several years after injury in all age categories, and earlier studies have reported the clinical relevance and validity of this outcome instrument.^{20,30}

Although outcome can be reliably determined by phone, this could result in an overestimation of good outcome, and the effect of frailty could even be greater than measured within the present cohort.²⁹ This study did not measure cognitive impairments, which made

it difficult to determine whether patients were suffering from age-associated mild cognitive impairment, although none of the patients in this study were clinically diagnosed with dementia.

CONCLUSION

This study shows that the elderly overall tend to recover well after sustaining MTBI. Frail elderly patients showed the less favorable long-term outcome compared with nonfrail patients, exhibiting more residual physical and psychological impairments. These results may have a number of implications for clinicians. For instance, frail elderly patients could benefit from a more extensive follow-up period although they “only” sustained a

mild brain injury. Furthermore, this study emphasizes the importance of fall prevention in the elderly; clinicians should focus more on prevention measures in this elderly population.

As frailty is a multidimensional index, future research should investigate which aspects of frailty are the best predictors of the long-term outcome after MTBI. This information could help clinicians improve current rehabilitation programs. Future research should also include all categories of TBI to investigate the effect of preinjury frailty and age in addition to other factors (eg, resilience and coping) on recovery after TBI. This could help allocate care more efficiently and possibly to reduce the associated medical costs.

REFERENCES

1. LeBlanc J, de Guise E, Gosselin N, Feyz M. Comparison of functional outcome following acute care in young, middle-aged and elderly patients with traumatic brain injury. *Brain Inj.* 2006;20(8):779–790. doi:10.1080/02699050600831835.
2. Nordstrom A, Edin BB, Lindstrom S, Nordstrom P. Cognitive function and other risk factors for mild traumatic brain injury in young men: nationwide cohort study. *BMJ.* 2013;346:f723. doi:10.1136/bmj.f723.
3. Susman M, DiRusso SM, Sullivan T, et al. Traumatic brain injury in the elderly: increased mortality and worse functional outcome at discharge despite lower injury severity. *J Trauma.* 2002;53:219–224. doi:10.1097/01TA.0000024249.40070.BD.
4. Stocchetti N, Paternò R, Citerio G, Beretta L, Colombo A. Traumatic brain injury in an aging population. *J Neurotrauma.* 2012;29(6):1119–1125. doi:10.1089/neu.2011.1995.
5. Fu TS, Jing R, McFaul SR, Cusimano MD. Recent trends in hospitalization and in-hospital mortality associated with traumatic brain injury in Canada. *J Trauma Acute Care Surg.* 2015;79(3):449–455. doi:10.1097/TA.0000000000000733.
6. Hofhuis JGM, Spronk PE. Health-related quality of life and influence of age after trauma: an overview. *J Trauma Acute Care Surg.* 2014;76(2):549–556. doi:10.1097/TA.0b013e3182a9d105.
7. van der Naalt J, van Zomeren AH, Sluiter WJ, Minderhoud JM. One year outcome in mild to moderate head injury: the predictive value of acute injury characteristics related to complaints and return to work. *J Neurol Neurosurg Psychiatry.* 1999;66(2):207–213. doi:10.1136/jnnp.66.2.207.
8. Tillou A, Kelley-Quon L, Burruss S, et al. Long-term postinjury functional recovery: outcomes of geriatric consultation. *JAMA Surg.* 2014;149(1):83–89. doi:10.1001/jamasurg.2013.4244.
9. Zonfrillo MR, Kim KH, Arbogast KB. Emergency department visits and head computed tomography utilization for concussion patients from 2006 to 2011. *Acad Emerg Med.* 2015;22(7):827–877. doi:10.1111/ace.12696.
10. Rapoport MJ, Feinstein A. Outcome following traumatic brain injury in the elderly: a critical review. *Brain Inj.* 2000;14(8):749–761. doi:10.1080/0269905000413777.
11. Røe C, Skandsen T, Manskow U, Ader T, Anke A. Mortality and one-year functional outcome in elderly and very old patients with severe traumatic brain injuries: observed and predicted. *Behav Neurol.* 2015;2015:845491. doi:10.1155/2015/845491.
12. Losoi H, Silverberg N, Wäljas M, et al. Resilience is associated with outcome from mild traumatic brain injury. *J Neurotrauma.* 2015;32:942–949. doi:10.1089/neu.2014.3799.
13. Corrigan JD, Horn SD, Barrett RS, et al. Effects of patient preinjury and injury characteristics on acute rehabilitation outcomes for traumatic brain injury. *Arch Phys Med Rehabil.* 2015;96(8 suppl):S209–21.e6. doi:10.1016/j.apmr.2015.03.026.
14. Le Maguet P, Roquilly A, Lasocki S, et al. Prevalence and impact of frailty on mortality in elderly ICU patients: a prospective, multicenter, observational study. *Intensive Care Med.* 2014;40(5):674–682. doi:10.1007/s00134-014-3253-4.
15. Clegg A, Rogers L, Young J. Diagnostic test accuracy of simple instruments for identifying frailty in community-dwelling older people: a systematic review. *Age Ageing.* 2015;44(1):148–152. doi:10.1093/ageing/afu157.
16. Fried LP, Tangen CM, Walston J, et al. Frailty in older adults: evidence for a phenotype. *J Gerontol A Biol Sci Med Sci.* 2001;56(3):M146–M156. doi:10.1093/gerona/56.3.M146.
17. Choi J, Ahn A, Kim S. Global prevalence of physical frailty by Fried’s criteria in community-dwelling elderly with national population-based surveys. *J Am Med Dir Assoc.* 2015;16(7):548–550. doi:10.1016/j.jamda.2015.02.004.
18. Searle SD, Mitnitski A, Gahbauer EA, Gill TM, Rockwood K. A standard procedure for creating a frailty index. *BMC Geriatr.* 2008;8:24. doi:10.1186/1471-2318-8-24.
19. Rockwood K, Howlett SE, Macknight C, et al. Prevalence, attributes, and outcomes of fitness and frailty in community-dwelling older adults: report from the Canadian Study of Health and Aging. *J Gerontol A Biol Sci Med Sci.* 2004;59(12):1310–1317. doi:10.1093/gerona/59.12.1310.
20. Peters LL, Boter H, Burgerhof JGM, Slaets JJP, Buskens E. Construct validity of the Groningen Frailty Indicator established in a large sample of home-dwelling elderly persons: evidence of stability across age and gender. *Exp Gerontol.* 2015;69:129–141. doi:10.1016/j.exger.2015.05.006.
21. Gaastra B, Longworth A, Matta B, et al. The ageing population is neglected in research studies of traumatic brain injury. *Br J Neurosurg.* 2016;30:221–226. doi:10.3109/02688697.2015.1119240.
22. Cassidy JD, Cancelliere C, Carroll LJ, et al. Systematic review of self-reported prognosis in adults after mild traumatic brain injury: results of the international collaboration on mild traumatic brain injury prognosis. *Arch Phys Med Rehabil.* 2014;95(3 suppl):S132–S151. doi:10.1016/j.apmr.2013.08.299.
23. van der Naalt J, Timmerman ME, de Koning ME, et al. Early predictors of outcome after mild traumatic brain injury (UPFRONT): an observational cohort study. *Lancet Neurol.* 2017;16:532–540.

24. Marshall LF, Marshall SB, Klauber MR, et al. A new classification of head injury based on computerized tomography. *J Neurosurg.* 1991;75(1s):S14–S20. doi:10.3171/sup.1991.75.1s.0s14.
25. Gobbens RJJ, Assen MALM Van, Luijckx KG, Wijnen-sponselee MT, Schols JMGA. The Tilburg frailty indicator: psychometric properties. *J Am Med Dir Assoc.* 2010;11(5):344–355. doi:10.1016/j.jamda.2009.11.003.
26. Schuurmans H, Steverink N, Lindenberg S, Frieswijk N, Slaets JJP. Old or frail: what tells us more? *J Gerontol A Biol Sci Med Sci.* 2004;59(9):M962–M965. doi:10.1093/gerona/59.9.M962.
27. Snaith RP, Zigmond AS. The hospital anxiety and depression scale. *Acta Psychiatr Scand.* 1983;67(6):361–370.
28. de Koning ME, Gareb B, el Moumni M, et al. Subacute posttraumatic complaints and psychological distress in trauma patients with or without mild traumatic brain injury. *Injury.* 2016;47(9):2041–2047. doi:10.1016/j.injury.2016.04.036.
29. Wilson JT, Pettigrew LE, Teasdale GM. Structured interviews for the Glasgow Outcome Scale and the extended Glasgow Outcome Scale: guidelines for their use. *J Neurotrauma.* 1998;15(8):573–585. doi:10.1089/neu.1998.15.573.
30. McMillan T, Wilson L, Ponsford J, Levin H, Teasdale G, Bond M. The Glasgow Outcome Scale—40 years of application and refinement. *Nat Rev Neurol.* 2016;12(8):477–485. doi:10.1038/nrneurol.2016.89.
31. Puts MTE, Lips P, Deeg DJH. Sex differences in the risk of frailty for mortality independent of disability and chronic diseases. *J Am Geriatr Soc.* 2005;53(1):40–47. doi:10.1111/j.1532-5415.2005.53008.x.
32. Clegg A, Young J, Iliffe S, Olde Rikkert MGM, Rockwood K. Frailty in older people summary. *Lancet.* 2013;381(9868):752–762. doi:10.1016/S0140-6736(12)62167-9.
33. Mosenthal AC, Livingston DH, Lavery RF, et al. The effect of age on functional outcome in mild traumatic brain injury: 6-month report of a prospective multicenter trial. *J Trauma.* 2004;56:1042–1048. doi:10.1097/01.TA.0000127767.83267.33.
34. McMahon P, Hricik A, Yue JK, et al. Symptomatology and functional outcome in mild traumatic brain injury: results from the prospective TRACK-TBI study. *J Neurotrauma.* 2013;8:1–8. doi:10.1089/neu.2013.2984.
35. Van Der Horn HJ, Spikman JM, Jacobs B, Van Der Naalt J. Postconcussive complaints, anxiety, and depression related to vocational outcome in minor to severe traumatic brain injury. *Arch Phys Med Rehabil.* 2013;94(5):867–874. doi:10.1016/j.apmr.2012.11.039.
36. Ni Mhaolain AM, Fan CW, Romero-Ortuno R, et al. Frailty, depression, and anxiety in later life. *Int Psychogeriatr.* 2012;24(8):1265–1274. doi:10.1017/S1041610211002110.
37. Heikkinen E. What are the main risk factors for disability in old age and how can disability be prevented? http://www.euro.who.int/_data/assets/pdf_file/0008/74708/E82970.pdf. Published 2003. Accessed July 10, 2016.
38. Testa JA, Malec JF, Moessner AM, Brown AW. Outcome after traumatic brain injury: effects of aging on recovery. *Arch Phys Med Rehabil.* 2005;86(9):1815–1823. doi:10.1016/j.apmr.2005.03.010.
39. Rothweiler B, Temkin NR, Dikmen SS. Aging effect on psychosocial outcome in traumatic brain injury. *Arch Phys Med Rehabil.* 1998;79:881–887. doi:10.1016/S0003-9993(98)90082-X.
40. Jacobs B, Beems T, Stulemeijer M, et al. Outcome prediction in mild traumatic brain injury: age and clinical variables are stronger predictors than CT abnormalities. *J Neurotrauma.* 2010;27(4):655–668. doi:10.1089/neu.2009.1059.
41. Marquez de la Plata CD, Hart T, Hammond FM, et al. Impact of age on long-term recovery from traumatic brain injury. *Arch Phys Med Rehabil.* 2008;89(5):896–903. doi:10.1016/j.apmr.2007.12.030.
42. Andersen FH, Kvåle R. Do elderly intensive care unit patients receive less intensive care treatment and have higher mortality? *Acta Anaesthesiol Scand.* 2012;56(10):1298–1305. doi:10.1111/j.1399-6576.2012.02782.x.
43. Torres OH, Francia E, Longobardi V, Gich I, Benito S, Ruiz D. Short- and long-term outcomes of older patients in intermediate care units. *Intensive Care Med.* 2006;32(7):1052–1059. doi:10.1007/s00134-006-0170-1.
44. Hukkelhoven CWPM. Patient age and outcome following severe traumatic brain injury: an analysis of 5600 patients. *J Neurosurg.* 2003;99(4):666–673. doi:10.3171/jns.2003.99.4.0666.
45. Thompson HJ, McCormick WC, Kagan SH. Traumatic brain injury in older adults: epidemiology, outcomes, and future implications. *J Am Geriatr Soc.* 2006;54(10):1590–1595. doi:10.1111/j.1532-5415.2006.00894.x.
46. Villacampa-Fernández P, Navarro-Pardo E, Tarín JJ, Cano A. Frailty and multimorbidity: two related yet different concepts. *Maturitas.* 2017;95:31–35. doi:10.1016/j.maturitas.2016.10.008.
47. Aarts S, Patel KV, Garcia M, et al. Co-presence of multimorbidity and disability with frailty: an examination of heterogeneity in the frail older population. *J Frailty Aging.* 2015;4(3):131–138. doi:10.14283/jfa.2015.45.CO-PRESENCE.

APPENDIX 1: Groningen Frailty Indicator**Physical domain**

Are you able to carry out these tasks single handedly and without any help? (The use of help resources, such as a walking stick, walking frame, or wheelchair, is considered to be independent.)

1. Shopping
2. Walking around outside (around the house or to the neighbors)
3. Dressing and undressing
4. Going to the toilet
5. What mark do you give yourself for physical fitness? (scale 0 to 10)
6. Do you experience problems in daily life because of poor vision?
7. Do you experience problems in daily life because of being hard of hearing?
8. Have you lost a lot of weight in the last 6 months? (3 kg in 1 month or 6 kg in 2 months)
9. Do you take 4 or more different types of medicine?

Cognitive domain

10. Do you have any complaints about your memory?

Social domain

11. Do you have ever experienced an emptiness around you?
12. Do you long for other people (to socialize with)?
13. Do you feel abandoned?

Psychological domain

14. In the past 4 weeks, did you feel downhearted or sad?
15. In the past 4 weeks, did you feel anxious or nervous?

Scoring:

Questions 1-4: → Yes = 0; no = 1

Question 5: → 0-6 = 1; 7-10 = 0

Questions 6-9: → No = 0; yes = 1

Question 10: → No = 0; sometimes = 0; yes = 1

Questions 11-15: → Yes = 1; sometimes = 1; no = 0